The Life of the Kitchen®

AT
CANTALOE
EM Series Cooktop Modules

IMPORTANT: This product may have some parts that are No Longer Available (NLA).
If the part you need is no longer available, please contact Dacor for a possible solution:

DACOR CARES PROGRAM
NLA Part Locator Service

Customer Contact Number: Service Agent/Technician Contact Number:
(800) 793-0093 ex. 2813 (800) 793-0093 ex. 3814
Hours: 6:00 am - 5:00 pm Pacific Time Hours: 7:00 am - 4:00 pm Pacific Time

Web Inquiries: www.dacor.com/dacorcares Email Inquiries: dacorcares@dacor.com

Please provide the following information:
* Your name and phone number
* Product model number
* Product serial number
* The part number(s) you need

Page # Description
2 EM-1 Click Here
3 EM-2 Click Here
4 EM-3 Click Here
5 EM-4 Click Here
6 EM-5 Click Here
7 EM-6 Click Here

Revised 09-30-2011

Dacor Technical Service 14425 Clark Avenue Industry, CA 91745 e Phone 800-353-2267 ¢ FAX 909-348-5601



EM1 Cooktop Module Assembly

Item Part # Description
1 82052A 8” COIL ELEMENT, 240V
82052 8” COIL ELEMENT 208V
2 (82054 8” DRIP BOWL
82051A 6” COIL ELEMENT 240V

82204 6" COIL ELEMENT 208V
82053 6” DRIP BOWL

27340AP, BP, WP | MODULE TOP

27350B MODULE PAN

26255AP, BP, WP | MODULE HANDLE

WIRING HARNESS, INCLUDES

12274

BLOCK

13113 RECEPTACLES WITH WIRES
(RED/BLUE)

13112 RECEPTACLES WITH WIRES
(WHITE/BLACK)

Part no longer available?
Call Dacor: (800) 793-0093 ex. 3814

The Life of the Kitchen? Page 2

Dacor Technical Service ¢ 14425 Clark Avenue Industry, CA 91745 e Phone 800-353-2267  FAX 909-348-5601




EM2 Cooktop Module Assembly

Item Part # Description
1 12290A, B, W TOP ASSEMBLY, LARGE BACK
12291A, B, W TOP ASSEMBLY, LARGE FRONT
2 | 82484 ELEMENT 2200W
3 82132 ELEMENT 1200W
4 |[27160 ELEMENT MOUNTING PLATE
5 |[83351 SPRING
27155B MODULE PAN, LARGE BACK
6 27156B MODULE PAN, LARGE FRONT
7 12289 WIRE HARNESS
8 (83024 SCREW
9 |83334 LOCK WASHER, EXT TOOTH, #8
10 | 383306 SCREW, #8 X 3/8”
dﬁ” Part no longer available? Call Dacor: (800) 793-0093 ex. 3814
The Life of the Kitchen?® Page 3

Dacor Technical Service ¢ 14425 Clark Avenue Industry, CA 91745 e Phone 800-353-2267  FAX 909-348-5601



EM3 Cooktop Module Assembly

Item Part # Description
82425 WOK ELEMENT, 2100W, 240V

1 82420 WOK ELEMENT, 2100w, 208V

2 | 82052A 8” COIL ELEMENT, 240V

3 |82054 8” DRIP BOWL

4 | 27339AP, BP, WP | MODULE TOP

5 |27350B MODULE PAN

6 | 26255AP, BP, WP | MODULE HANDLE

7 12275 WIRE HARNESS
dﬁ” Part no longer available? Call Dacor: (800) 793-0093 ex. 3814
The Life of the Kitchen?® Page 4

Dacor Technical Service ¢ 14425 Clark Avenue Industry, CA 91745 e Phone 800-353-2267  FAX 909-348-5601



EM4 Cooktop Module Assembly

*  For units built before 3/1996
**For units built between 3/1996 and 6/2000
*** For units built after 6/2000

ac o

The Life of the Kitchen”

Item Part # Description Item Part # Description

12290A, B, W TOP ASSEMBLY, LARGE BACK 4 |27074 ELEMENT MOUNTING PLATE

1 |[12291A,B, W TOP ASSEMBLY, LARGE FRONT 5 (83351 SPRING
27568 CERAN MOUNTING FRAME 6 |27039B MODULE PAN ASSEMBLY
82238* 7 12292 WIRE HARNESS

2 | 82133** ELEMENT 1400W 8 |83024 SCREW, #8 X 3/8
62797*** 9 |[83334 LOCK WASHER, EXT TOOTH, #8
82824* 10 83306 SCREW, #8 X 3/8"

3 | 82134** ELEMENT 1900W
62798***

Part no longer available? Call Dacor: (800) 793-0093 ex. 3814

Page 5

Dacor Technical Service ¢ 14425 Clark Avenue Industry, CA 91745 e Phone 800-353-2267  FAX 909-348-5601




EM5 Cooktop Module Assembly

Item Part # Description
1 |82059 BBQ GRILL
» 12276 BBQ ELEMENT 240V
12281 BBQ ELEMENT 208V
3 |12005 BBQ COAL PLATE ASSEMBLY
4 |[27056BP BBQ DRIP TRAY

Part no longer available? Call Dacor: (800) 793-0093 ex. 3814

, ,m

The Life of the Kitchen? Page 6

Dacor Technical Service ¢ 14425 Clark Avenue Industry, CA 91745 e Phone 800-353-2267  FAX 909-348-5601




EM6 Cooktop Module Assembly

Item Part # Description
1 82500 8” SOLID ELEMENT, 240V
82511 8” SOLID ELEMENT, 208V
82502 6” SOLID ELEMENT, 240V
2 82510 6” SOLID ELEMENT, 208V
3 27338AP, BP, WP | MODULE TOP
4 |82501 8” REFLECTOR
5 (82503 6” REFLECTOR
6 |27350B MODULE PAN
7 | 26255AP, BP, WP | MODULE HANDLE
8 12271 WIRE HARNESS
2 . Part no longer available? Call Dacor: (800) 793-0093 ex. 3814
The Life of the Kitchen?® Page 7

Dacor Technical Service ¢ 14425 Clark Avenue Industry, CA 91745 e Phone 800-353-2267  FAX 909-348-5601



	Click Here: 


